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1. Introduction
In RAN1#90bis meeting, the following agreement was reached for Rel-14 V2X CR (based on WF [1]), to consolidate the list of MCS-TBS problematic cases for PSSCH across companies over an email discussion, based on which conclusions will be drawn in RAN1#91.
	Agreement:
1. Bullet 1 is agreed for PSSCH
1. Bullet 2 is agreed with the following additional simulation cases: 
1. 1st symbol is available
1. Retransmission is used
· Bullet 3 is not agreed – decide at RAN1#91 how to handle the list.



During the email discussion after RAN1#90bis, the following cases were discussed:
1) Case 1: First symbol unavailable, single transmission (RV0)
2) Case 2: First symbol unavailable, two transmissions
3) Case 3: First symbol available, single transmission
4) Case 4: First symbol available, two transmissions
5) Case 5: First symbol unavailable, single transmission (RV2).
The simulation result of case1/case2/case3 has been aligned. Also CATT gave the result of case5, see annex of this contribution.
It’s clear that, the scope of email discussion is simply collecting the simulation results among companies to reach aligned list of problematic MCS/TBS under each cases. How to interpret and capture those lists should be left to RAN1#91 meeting.
In this contribution, we will give analysis on how to interpret and capture those lists in RAN1.
2. Discussion
2.1. Availability of first symbol
In V2X environment, whether the first symbol can be used or not depends on many factors, e.g. AGC operation performed last time, distance of transmission, Rx power composition by multiple signal, etc. So even for a given transmitter, the answer is really receiver specific. Also as we know In Rel-14, only broadcasting transmission is supported for PC5, then the transmitter should try to consider all the receivers as much as possible. So regarding the AGC issue, it’s natural for transmitter to always assume the first AGC symbol is not available.
So we propose:
Proposal 1: The problematic list of Case 3”first symbol available, single transmission” and Case 4”first symbol available, two transmissions” is not considered or captured in RAN1.

2.2. Mapping between Case1/2/5 and real TX/RX scenarios
In following table, we list some scenarios where the problematic list could be used:
Table 1 TX/RX scenarios
	Scenario

	No. Tx of transmitter
	Situation in Receiver
	Usage of the problematic list

	#1
	1(RV0)
	Can receive, which is of course RV0.
	List of Case1(single transmission, RV0) should be avoided

	#2
	2(RV0+RV2)
	Can receive both RV0 and RV2, no HD issue.
	List of Case2(two  transmissions) should be avoided

	#3
	2(RV0+RV2)
	Can only receive ether RV0 or RV2, the other one cannot be received due to Half Duplex (HD).
	To guarantee performance of UE with HD issue, the list of Case1(single transmission, RV0) or Case 5(single transmission, RV2)should be avoided



The scenario #1 and #2 is not relevant to HD issue. It’s clear that, depending on the configuration of No.Tx, different scenario should avoid use different problematic list to keep the baseline performance. So we propose:

Proposal 2: Capture the UE behavior in RAN1 or RAN2 specification, that UE should not use the configuration in problematic list of Case 1 (for single transmission) and Case2 (for 2 transmissions). RAN1 send LS to RAN2 if necessary.

Also consider the RAN4/5 is defining the test configuration, RAN1 should notify them not to use those problematic configurations in performance/test specification.
Proposal 3: RAN1 send LS to notify RAN4/5 about the problematic list of Case 1 (for single transmission) and Case2 (for 2 transmissions).


Scenario#3 is related to the HD issue with two transmissions. Basically UE may need to balance the performance between UE that with or without HD issues. But if the performance of HD UEs is more favorable, then both RV0 & RV2 should be treated equally (many companies agree that the HD problem can equally happen for first transmission and retransmission). In this situation, UE should avoid using the union of “problematic list of Case1” and “problematic list of case5”.

Proposal 4: It’s up to UE implement how to consider HD issue. If the performance of HD UEs is more favorable, UE should avoid using the union of “problematic list of Case1” and “problematic list of case5”.

Proposal 5: Capture the union of “problematic list of Case1” and “problematic list of case5” in official RAN1 meeting minute.

3. Conclusion
In this contribution, we give analysis on how to interpret and capture those problematic lists in RAN1. We have the following proposals:
Proposal 1: the problematic list of Case 3”first symbol available, single transmission” and Case 4”first symbol available, two transmissions” is not considered or captured in RAN1.
Proposal 2: Capture the UE behavior in RAN1 or RAN2 specification, that UE should not use the configuration in problematic list of Case 1 (for single transmission) and Case2 (for 2 transmissions). RAN1 send LS to RAN2 if necessary.
Proposal 3: RAN1 send LS to notify RAN4/5 about the problematic list of Case 1 (for single transmission) and Case2 (for 2 transmissions).
Proposal 4: It’s up to UE implement how to consider HD issue. If the performance of HD UEs is more favorable, UE should avoid using the union of “problematic list of Case1” and “problematic list of case5”.
Proposal 5: Capture the union of “problematic list of Case1” and “problematic list of case5” in official RAN1 meeting minute.


4. [bookmark: _Ref427008671][bookmark: _Ref427135890]Annex: Result of Case 5: First symbol unavailable, single transmission (RV2)
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